[1D:9:9:9:9:9:0:9.9:9:9:9:0:9.9.9.9:0:0:9.9.9.9:9:0:0:9.0.9.9:9:0:0.9.9.9:0:0:9.:0.9.0.9:0:0:0.0.9.0:9:0:0.0.9.9:0:0:0:0.9.0.0:0:0:0.0.9.0:9:0:0:0.0.9:0:¢
X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXKXKXKXME5/2-6300402-00001XX

Function02 for No.9004

.]:(y=—2x+17) .3:(3)(,'—4)/—4:0) .5=(4x_y+3:0)

vl L)

A4=2x+y-7=0)

F ]

b6=(y=—x+3) }’

T
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Function02 for No.9004 (continue)

1
I

M
(Eq=[y=-2x+17]] [Eq=[4x—y+3=0]] Ct’
A=(2,12) A=(-1,-1) ,
No2 = B=(1,15) |, ,No3= B=(-2,-5) - la
C=(-5,26) C=(-4,-16) v
D=(4,9) ] L D=(0,4) i
U
LT
No4 : 4.1 > S =170 , R =14
: 4.2 > S = 9600 , R=206
No5 : N = 17000 , R=290 , Y = 2567
No6e : P = 120 , F = 18000 , V. =40 , N = 222
B D(p):—l3p+6521}
N07_[ S(p)=19 p + 4377
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Function02 for No.9033
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Function02 for No.9033 (continue)

e
[Eq=[y=2x+19]] (Eq=[2x-5y+5=0]] Ct’
A=(-3,10) A=(-10,0) i
No2=| B=(-4,11) | ,No3= B=(0,-2) - la
C=(3,25) C=(-5,-1) by
. D=(4,26) | L D =(-25,-9) i U
L T
No4 : 4.1 > S = 150 , R=23
: 4.2 > S = 6600 , R=5
No5 : N = 26000 , R =11 , Y = 2565
No6 : P = 150 , F = 22000 , V. = 60 , N = 231
~ D(p):—20p+7250}
N07_[ S(p)=21p +4585
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Function02 for No.9237

Nol{
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A=(x—-4y+20=0) 3=2x+y+1=0)
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=—+
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A4=(x+y+5=0)
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F ]
S=(=—=x-1) c:
b6=(y=3x+15)f h
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Function02 for No.9237 (continue)

1
|

M
(Eq=[y=-x—1]] (Eq=[x—4y+20=0]] Ct’
A:(l,-S) A:(897) h
No2=| B=(0,-3) | ,No3= B=(-8,3) e
C=(-4,3) C=(4,7) Y
| D=(3,4) | . D=(20,9) U
L 7]
Nod4 : 4.1 > S = 190 , R=23
: 4.2 > S = 7700 , R =23
No5 : N = 18000 , R =28 , Y = 2571
No6 : P = 130 , F = 18000 , V. = 60 , N = 251
~ D(p):—24p+6564}
N07_[ S(p)=25p +3575
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Function02 for No.9286

No]{]z(4x+y1820) .3:( :2_5x_4j S=(=4x-7)
2=(4x-y+2=0) 4=(y=—x-1)

\ o

M

.6-(x—4y+4-0j5

e =~ 8
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Function02 for No.9286 (continue)

1
I

M
(Eq=[y=4x-7]] (Eq=[4x—y+2=0]] ‘t’
A =(-3,-19) A=(5,22) ,
No2=| B=(-5,-26) | ,No3= B=(4,18) ol
C=(-2,-15) C=(-1,-2) by
D=(-4,-25) _ . D=(1,3)
U
T
Nod4 : 4.1 > S = 170 , R=0
: 4.2 > S = 9100 , R=206
No5 : N = 24000 , R =10 , Y = 2571
No6 : P = 170 , F = 22000 , V. = 50 , N = 181
~ D(p):—17p+7889}
N07_[ S(p)=15p + 5745
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Function02 for No.9604

M
. a
NoJ = .Iz(y:—z+2J 3=2x+3y+18=0) .5=(2x+y+2:0)’ ’ }tl
2=2x+y+18=0) A4=(y=3x) b6=(y==x+T7) 9
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Function02 for No.9604 (continue)

1
|

M
(Eq=[y=3x]] (Eq=[2x+3y+18=0]] Ct’
A=(2,6) A=(-12,3) ,
No2=| B=(-5,-17) |, ,No3= B=(15,-16) e
C=(-1,-3) C=(3,-6) Y
. D=(0,-2) _ | D=(12,-14) U
L 7]
Nod4 : 4.1 > S = 180 , R =14
: 4.2 > S = 8200 , R=206
No5 : N = 19000 , R =11 , Y = 2566
No6 : P = 180 , F = 17000 , V. = 60 , N = 156
~ D(p):—16p+5770}
N07_[ S(p)=27p + 3835
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Function02 for No.9635
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2=(x+3y-6=0)
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5x
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O6=(x+3y+21=0) 9
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Function02 for No.9635 (continue)

M
[Eg=[y=-2x+16]] Eg=[x+3y+21=0]] j’
A=(-4,25) A=(9,-10) i
No2 = B=(-5,26) . ,No3= B=(3,-8) e
C=(-2,20) C=(-3,-6) by
D=(2,10) | . D=(12,-13) U
LT ]
Nod4 : 4.1 > S = 130 , R =17
: 4.2 > S = 7900 , R =14
No5 : N = 20000 , R=15 , Y = 2569
No6o : P = 180 , F = 22000 , V. = 30 , N = 155
~ D(p):—18p+6210}
N07_[ S(p) =23 p + 4365
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Function02 for No.9770

M
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L:D ]

N
N\

10

\
AN’
\/
\

/

N\

A
[N
[\ N\

%/ T

N
/ \

S

e

N
N

Continue Next Page >>>



Function02 for No.9770 (continue)

1
I

M
(Eq=[y=-x+6] (Eq=[4x—y—-7=0]] ‘t’
4=(0,6) 4=(4,7) ,
No2=| B=(1,5) |, ,No3= B=(-5,-27) | la
C=(-1,6) C=(-4,-23) Y
. D=(3,0) L Db=(2-1) U
T
Nod4 : 4.1 > S = 150 , R =14
: 4.2 > S = 6900 , R=206
No5 : N = 21000 , R =06 , Y = 2566
No6 : P = 170 , F = 18000 , V. = 60 , N = 158
~ D(p):—l7p+7923}
N07_[ S(p) =24 p + 5094
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Function02 for No.9799

J=(3x+y-6=0) .3=(y=3x+15) -5:(y:§‘5j AC;
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Function02 for No.9799 (continue)

1
I

i ] M
3x - _ a
Eq = y="4 Eq=[3x+y=0] ;
6. 13 A=(-4,15) A
No2=| A=(6:12) 1 s | po(1,5) | .
B=(10,15) C=(-1,3) @
C=(-10,-15) D= (2.-6) M
L D=(-4,-6) | ) ’ U
v
Nod4 : 4.1 > S = 190 , R =14
: 4.2 > 35 = 7200 , R=0
No5 : N = 15000 , R =7 , Y = 2569
No6 : P = 160 , F = 22000 , V.= 70 , N = 235
~ D(p):—14p+6976}
N07_[ S(p) =23 p + 3868
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Function02 for No.9824

A=(y=-3x-1)

] =
Nol=| 5 (y=ax+17)

3=(x+y+7=0)
4=3x+y-4=0)
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M
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Function02 for No.9824 (continue)

o
(Eq=[y=4x+17]] (Eq=[x+y+7=0]] j’
A=(1,21) A=(-4,-3) L
No2=| B=(4,33) |, ,No3=| B=(3,-10) - la
C=(5,35) C=(-1,-8) v
L D=(-5-3) L D=(-2,-4) U
T
Nod4 : 4.1 > S = 160 , R =17
: 4.2 > S = 6100 , R=206
No5 : N = 14000 , R =10 , Y = 2571
No6 : P = 130 , F = 22000 , V. = 30 , N = 221
~ D(p):—21p+7132}
N07_[ S(p)=13 p + 5704
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Function02 for No.9853

M
oo I==xt2) .3=( =§—7J .5=(x3y9=0)]’ Ctl
2=(2x-3y+18=0) 4=(y+2x-16=0)  .6=(y=2x) }j
D
ol // /
// g
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Function02 for No.9853 (continue)

) ] M
X r . a
qu{yz;—7} Eq=[2x-3y+18=0] t
A=(6,-5 4=09,12) h
No2=| A4=(6-5) 1 Np3o B=(12, 14) o
B=(0,-7) B @
C=(-3,5)
C=(15,-2) - M
L D=(-12,0)
D=(-6,-10) _ U
| 7]
No4 : 4.1 > S = 190 , R =25
: 4.2 > S = 7600 , R =23
No5 : N = 20000 , R =9 , Y = 2565
No6 : P = 150 , F = 17000 , V. = 30 , N = 155
~ D(p):—17p+7683}
N07_[ S(p)=27p +5527
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Function02 for No.9936

A=(x-3y+6=0)
Nol =

\
\\§\
\\

3=(y=4x+6)

A4=(4x-y+4=0)

.

T
S5=Q2x+y-19=0) Ct‘
b=(y=—x) h
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LD
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Function02 for No.9936 (continue)

1
I

M
(Eq=[y=4x+6]] (Eq=[x-3y+6=0]] ‘t’
A=(3,15) A=(-6,0) h
No2=| B=(3,-5) | ,No3= B=(0,3) ol
C=(1,10) C=(-3,0) Y
D=(2,14) | . D=(12,6) U
| T
No4 : 4.1 > S = 180 , R=23
: 4.2 >S5 = 9700 , R=5
No5 : N = 29000 , R =5 , Y = 2565
No6 : P = 140 , F = 22000 , V. =40 , N = 222
~ D(p):—23p+7809}
N07_[ S(p)=125p + 3825
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Function02 for No.10029

v
Nol =
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4=B83x-y+19=0) 6=(4x+y-7=0)
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Function02 for No.10029 (continue)

— — _M_
X - . a
qu{yz;} Eg=[4x+y—-5=0] ;
(0. A=(-5,26) A
N02: _( > ) 5 ,NO3= B:(-1’9) s s
B=(-8,-4) C=(-3.17) @
C=(10,38) Dy M
L D=(4,-11)
. D=(4,2) | U
L T
Nod4 : 4.1 > S = 160 , R=23
: 4.2 > 35 = 8700 , R =17
No5 : N = 28000 , R =7 , Y = 2566
No6 : P = 160 , F = 23000 , V.= 50 , N = 215
~ D(p):—28p+7984}
N07_[ S(p) =129 p + 4963
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Function02 for No.11015

d=(x-2y—14=0)
1:
Nol=l 5 (2x—y+7=0)

\

\

I=(y=-3x+17)

X
4= y:5+5

10 /

e
S=(y=-3x-7) c;
b6=(x—y-5=0)( h
)
LD ]
//
e
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Function02 for No.11015 (continue)

) ] M
X - - a
Eq = y:5+5} Eq=[2x-y+7=0] ;
Py A=(3,10) ,
No2=| A=(24  Ns | B=(4,15) | |
B=(-4,0) _ @
C=(-4,-3)
C=(-10,0) B M
. D=(1,9) |
D=(0,5) | U
| T
Nod4 : 4.1 > S = 140 , R =25
: 4.2 > S = 7600 , R=206
No5 : N = 28000 , R =17 , Y = 2571
No6 : P = 170 , F = 18000 , V. = 60 , N =179
~ D(p):—21p+6729}
N07_[ S(p) =26 p + 4426
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Function02 for No.11124

No]{]=(3xy+1=0) .3=(y=i+5j ,5=( =43—x4]]’ Z
2=3x+y-15=0) 4=(y=—x—-6) 6=(+x-7=0) )
\\ \ 10- /
\ /
N\ .
AN
\ \ i \/\
AN 4 /N
NN /N
N\ , L
N\ N,
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AN
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Function02 for No.11124 (continue)

1
I

) ] M
4 x - B a
Eq=|y=-—3 -4 Eq=[3x+y-15=0] t
A=(15,-24 4=(3,6) h
No2 = =(15,224) ) N3 B=(4,0) o
B=(-3,0) _ @
C=(-4,27)
C=(0,-2) - M
| D=(-5,30)
. D=(6,-10) U
| 7]
Nod4 : 4.1 > S = 180 , R=0
: 4.2 > S = 7400 , R =23
No5 : N = 19000 , R = 10 , Y = 2567
No6 : P = 180 , F = 18000 , V. = 50 , N = 138
~ D(p):—24p+7320}
N07_[ S(p) =13 p + 4360
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Function02 for No.11785

A=2x-5y-35=0)

Ab]z{ 2=(y+x-6=0)

3=(=-3x+1)
A4=(x+2y+10=0)

M

.5:(y:4x+16q
b6=(y=-3x+2)" ~

.D"\;NNQ
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Function02 for No.11785 (continue)

1
I

M
(Eqg=[y=-3x+1]] (Eq=[2x-5y-35=0]] ‘t’
A=(0,1) A=(15,-2) A
No2 = B=(-2,4) . ,No3= B=(-5,-9) e
C=(-5, 14) C=(20,1) by
D=(2,-5) | i D=(-15,-10) U
LT ]
Nod4 : 4.1 > S = 190 , R =14
: 4.2 > S = 7600 , R =23
No5 : N = 20000 , R =10 , Y = 2568
No6 : P = 140 , F = 20000 , V. =40 , N = 215
~ D(p):—24p+8072}
N07_[ S(p)=25p + 5475
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Function02 for No.11787

b w
J=(4x-y-6=0) 3=(y=—4x+19) S=|y=-—"+7

Nol = .
.2:( :E—lj A4=(x+y+3=0) 6=(4x+3y-9=0)

10

F ]

3

T
5'\‘,}‘*&&
L

\ /
\
A

/
/

1

e

[\~
G
\e 10
U
AN
N
N

AN
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Function02 for No.11787 (continue)

— = _M_
X - - a
Eq:[yzz—l} Eg=[4x-y—-6=0] ;
A=(-8,-6 4=(2-14) h
Noz=| A=C8-6) | nos | =33y |,
B=(10,4) - @
C=(2,2)
C=(8,2) _ M
L D_(Oa_4) _
D=(-2,-2) | U
| T
Nod4 : 4.1 > S = 170 , R =14
: 4.2 > S = 6200 , R=5
No5 : N = 18000 , R =9 , Y = 2565
No6 : P = 160 , F = 17000 , V. = 30 , N =116
~ D(p):—25p+7500}
N07_[ S(p) =16 p + 5450
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Function02 for No.11852

. I=(Gx+y—1=0) .3:( :43—’“) S=(r=x) %’4
o 2=(x-y+19=0) .4=[ =§—2j 6= (rmy+720)| };
/ LD
[ ///
/ . //
/ u /;/
/ AR
/ ;/ e
o/ e
/ )

//%A i
///// "
/
T N
L/
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Function02 for No.11852 (continue)

] _ M
X - - a
qu{y=5—2} Eg=[x—-y+7=0] ;
A=(-4,3 4=(4,8) h
No2=| A=CA3) N3l B=(-1,6) |
B=(-10,-5) B @
C=(-3,4)
C=(0,-2) _ M
. D=(5,11)
| D=(-8,-6) U
T
Nod4 : 4.1 > S = 180 , R =25
: 4.2 > S = 6100 , R =17
No5 : N = 15000 , R = 8 , Y = 2569
No6 : P = 180 , F = 22000 , V. = 60 , N =176
~ D(p):—23p+8268}
N07_[ S(p)=15p + 5760
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Function02 for No0.11898

A=(x+2y+6=0)

] =
Nol=l 5 (xiy+1=0)

3=(2x-3y+12=0)

2x
.4:()/:_—3

//\\\

10

M

a

S=(y=—4x+17) .
6=(y=4x+5) [ | h
?)

LD ]

orf )

\
\ pd

-10+
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Function02 for No.11898 (continue)

e
(Eq=[y=-4x+17]] (Eq=[x+2y+6=0]] Ct’
A=(-3,29) A=(6,-6) A
No2=|  B=(0,16) | ,No3= B=(4,-5) - la
C=(-4,33) C=(-10,2) v
. D=(-1,21) | . D=(2,-2) |
U
T
No4 : 4.1 > S = 150 , R=0
: 4.2 > S = 8300 , R=206
No5 : N = 22000 , R =11 , Y = 2565
No6 : P = 140 , F = 22000 , V. = 50 , N = 233
~ D(p):—25p+7750}
N07_[ S(p)=26p + 5302
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Function02 for No.11909

NO]{]:()’:§+6] 3=(y=4x+18) 5=(x+y-5-0) ]i;
2=(y=—x+4) 4=(3x+y-3=0) .6=(3x-2y=0) l))
NREERN'

AV
VAN
LA\
/ \\i
[N
ERREINON
/ W\ .
/ IR |
/ (AR
\ N
/ 4" \\ \\
/ i) :
’ i\ N\
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Function02 for No.11909 (continue)

1
|

M
(Eq=[y=4x+18]] (Eq=[3x+y-5=0]] Ct’
4=(3,8) A=(1,-1) ,
No2=| B=(5,38) |, ,No3= B=(4,9) e
C=(-5,-2) C=(3,-4) Y
| D=(0,18) | | D=(4,17) U
L 7]
Nod4 : 4.1 > S = 170 , R=0
: 4.2 > 35 = 8600 , R =17
No5 : N = 21000 , R =17 , Y = 2571
No6 : P = 150 , F = 23000 , V. =40 , N = 221
B D(p):—23p+6292}
N07_[ S(p)=16p + 4186
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Function02 for No.11944

A=(y=—x+3)

1:
Nol=|  (4x—s5y—35=0)

3=3x-y+2=0)

X
4= y:§+2

10 \

Fr]
S=(y=-4x+15) CZ
b6=(x+y-5=0)7 h
?)

LD
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Function02 for No.11944 (continue)

— — _M_
X - - a
Eq:[y:;+2} Eq=[3x-y+2=0] ;
A=(12,6 A=(3,-7) h
Noz=| A=U206) " nos—| =28 |,
B=(-6,0) _ @
C=(-5,-10)
C=(-12,-2) B M
. D=(0,2) |
D=(9,3) U
a
Nod4 : 4.1 > S = 180 , R=0
: 4.2 > S = 9200 , R =23
No5 : N = 17000 , R =11 , Y = 2565
No6 : P = 130 , F = 17000 , V. = 30 , N = 164
~ D(p):—l3p+7391}
N07_[ S(p)=15p + 5795
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Function02 for No.11961

RTINS () o |

NOIL (4x+y+4=0) 4= _Z”j -6(4xy+190l, }j
N\

\
N
\\ \\74

\\ / \\

/ 5 10

\ §
N\
/ \J\ X

/ N
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Function02 for No.11961 (continue)

i . M
X - . a
qu{yz—z+7} Eq=[x+y+5=0] ;
A4=(16,1 4=(5,-10) h
N02: _( ’ ) 5 ,N03= BZ(O,'S) 5 s
B=(-12,10) _ @
C=(3,-5)
C=(-4,8) _ M
L D_(_47_2) ;
. D=(8,9) | U
L T
Nod4 : 4.1 > S = 170 , R =14
: 4.2 > S = 6500 , R=06
No5 : N = 21000 , R =11 , Y = 2571
No6 : P = 120 , F = 17000 , V.= 40 , N = 221
~ D(p):—25p+7125}
N07_[ S(p)=17 p + 4227
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Function02 for No.11966

M

. a

NOI:.]:(3x+4y—20:O) .3=(y:2—4j .5:(3x+4y+28:0), ’ }tz
2=Bx-y+19=0) 4=(y=—x-2) Ob=(y=—-4x-17) )

LD |

NG

\ \ 10
AN
o\ .

-10- \ N

N~
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Function02 for No.11966 (continue)

1
I

M
(Eq=[y=-4x-7]] (Eq=[3x+4y-20=0]] ‘t’
A=(0,-7) A=(20,-13) A
No2=| B=(1,-11) | ,No3= B=(8,-1) e
C=(-3,3) C=(-4,8) by
. D=(-2,1) | i D=(16,-7) |
U
LT ]
Nod4 : 4.1 > S = 160 , R=23
: 4.2 > S = 10300 , R=5
No5 : N = 23000 , R =06 , Y = 2566
No6 : P = 130 , F = 22000 , V. = 60 , N = 319
~ D(p):—13p+6130}
N07_[ S(p) =21 p + 4090
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Function02 for No.12024

M
I=(2x-5y-35=0) 3=(y=—-4x-17) 5=2x—-y+6=0) a
NOIZ X 5 ) !
2=(2x-y+2=0) .4:(y:5+1 6=(y=—x-3) h

2)

D]
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Function02 for No.12024 (continue)

1
I

M
(Eq=[y=-4x—17]] [Eq=[2x-y+2=0]] Ct’
A=(-5,3) A=(3,8) i
No2=| B=(2,22) | ,No3= B=(-1,2) | |2
C=(1,-21) C=(-2,-2) v
L D=(-4,0) ] L D=(4,12) i
U
T
No4 : 4.1 > S = 130 , R =14
: 4.2 > 8 = 10600 , R =3
No5 : N = 13000 , R = 10 , Y = 2570
No6 : P = 150 , F = 18000 , V. = 60 , N = 208
~ D(p):—25p+6525}
N07_[ S(p) =14 p + 4380
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Function02 for No.12045

M
O '3:(y=§_4] 5=(4x-3y+6=0) p
2=(M4x-y-3=0) 4=(y=-3x-16) 6=(y=—x+4) }j
D]
\ /
\ 10-
\ )
RN
\ /
\ d
\ J
\ W .
\ Ak : L
/ 5 ///
Py | o
BES s
PR
”’,,—»f”"””’ ,»—”" “’;””;;
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Function02 for No.12045 (continue)

1
I

M
(Eq=[y=-3x-16]] (Eq=[4x-3y+6=0]] ‘t’
A=(2,-22) A=(9,16) A
No2 = B=(-3,-7) . ,No3= B=(3,6) e
C=(-1,-10) C=(-12,-14) by
. D=(-2,-11) | D=(12,16) U
LT ]
Nod4 : 4.1 > S = 150 , R =14
: 4.2 > S = 6300 , R =17
No5 : N = 22000 , R=290 , Y = 2567
No6 : P = 150 , F = 22000 , V. = 60 , N = 249
~ D(p):—27p+7882}
N07_[ S(p) =19 p + 4846
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Function02 for No.12623

5

/=

2 ( a 3}

2=|y="+
Y73

Nol =

)
y=—"+1] 3=(x-3y-9=0) S=M4x-y=0)

A4=(y=x-2)

M

M 2

6=2x+y-20=0)

6'\'_,&“\&

ARV
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Function02 for No.12623 (continue)

1
I

] ] M
X - A a
qu{y=;+3} Eq=[2x+y—20=0] t
A=(-15,-2 4=(2,13) h
No2=| A=C1-2) 1 s B=(4,12) o
B=(-3,2) - @
T C=(-3,23) by
=(0.3) | D=(4,28) |
D= (15, 10) U
| 7]
No4 : 4.1 > S = 130 , R=0
: 4.2 > S = 9200 , R=206
No5 : N = 18000 , R = 6 , Y = 2568
No6 : P = 150 , F = 19000 , V=70 , N = 245
~ D(p):—15p+6935}
N07_[S(p)=14p+5514
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Function02 for No.12915

M
a

NO]Z[.1=(4x+5y+5=0) 3=(x-2y-4=0) .5:(y:—3x+3)} t
2=Bx-y+15=0) A4=(y=—x+1) b6=(y=—x+6) [ h

2)

_:D]

AN
\\\ .
\\
\

AN

N
/ 10- \

N
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Function02 for No.12915 (continue)

1
I

M
(Eq=[y=-3x+3]] (Eq=[3x—y+15=0]] Ct’
A=(2,-3) A=(2,12) ,
No2=| B=(-4,15) |, ,No3= B=(-3,6) ol
C=(5,-15) C=(3,24) by
. D=(0,6) | L D=(-1,12) |
U
LT
Nod4 : 4.1 > S = 170 , R =17
: 4.2 > S = 6500 , R =17
No5 : N = 16000 , R=15 , Y = 2570
No6 : P = 170 , F = 19000 , V=70 , N = 194
~ D(p):—27p+8633}
N07_[S(p)=17p+5157
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Function02 for No.13089

. ,1:£y=f+5] 3=(4x+y-2-0) .5:@:_5?’“”) :
.2=(y=§+6j d=(yix-4=0) 6=(2x-y+18=0)| ’;
N \ D]
\ 10
\>< T
/ \ \ y ///
/ N\ \‘5/
) —C
7 \
/ 2
/ i 5 10
/ HARERAN
N\
/ - .
: AN
/ : N
M AN

Continue Next Page >>>



Function02 for No.13089 (continue)

) ] M
X - - a
qu{yzz+5} Eq=[y+x-4=0] ;
A=(12,11 4=0,4) h
No2=| A=U21D0 ys | B-(4,8) |
B=(-12,2) _ @
C=(-2,7)
C=(16,12) _ M
L D—(-I,S)
D=(4,6) U
a
Nod4 : 4.1 > S = 140 , R =25
: 4.2 > 35 = 6200 , R=0
No5 : N = 17000 , R = 6 , Y = 2568
No6 : P = 120 , F = 21000 , V. = 50 , N = 293
~ D(p):—23p+7256}
N07_[ S(p)=14p + 4592
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Function02 for No.13101

d=(y=—x-1)
Nol =

\\

\\\

3=3x+y+5=0)
Sx
2=(5x+2y-8=0) 4=(y=2x+20) .6:( :—_+6j s

M
S=(x+2y-2=0)

2

.D"\;NNQ
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\\\ 5 10
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Function02 for No.13101 (continue)

o
(Eq=[y=-x—1]] (Eq=[5x+2y-8=0] j’
A=(5,-7) A=(-8,24) 5
No2=| B=(-1,0) |, ,No3= B=(2,-1) - la
C=(2,1) C=(8,-16) Y
. D=(3,-5) | L D=(4,-4) 4 U
| T
No4 : 4.1 > S = 140 , R =14
: 4.2 > S = 8900 , R =17
No5 : N = 20000 , R = 10 , Y = 2567
No6 : P = 140 , F = 17000 , V. =40 , N = 162
B D(p):—18p+6262}
N07_[ S(p)=19 p + 4079
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Function02 for No.13155

NOI{

I=(y=-4x+3)

I=(y=—4x+5)

2x
2:( 27—6] 4=(x-y—-6=0) 6=3x-y+19=0)(

M
S=(x+3y-9=0)

.D"\;NNQ

ZT\\ /

// i T
T\

/ \

\

\
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Function02 for No.13155 (continue)

1
I

] ] M
2x - _ a
Eq = y=7—6 Eg=[x-y-6=0] ;
A=(-12,-16 A=(1,-3) h
Noz=| A=CI2-10) 4 v | po(2,or) |,
B=(-15,-16) B @
C=(3,-3)
C=(-3,-8) - M
L D_(_35_9) _
D=(0,-6) | U
| T
Nod4 : 4.1 > S = 150 , R =25
: 4.2 > S = 7800 , R =17
No5 : N = 13000 , R = 6 , Y = 2570
No6 : P = 130 , F = 20000 , V. = 60 , N = 294
~ D(p):—13p+6359}
N07_[ S(p)=19 p + 4983
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Function02 for No.13156

I=(y==x—1) 3=Q2x—y+18=0) .S=(y=-x+4) Aj
N‘”L(zxw—étm a=ly=-Zs .6(x+2y—120)]’ )
\\\ // LD |
N\ S~ "
O\ \Z 8
N\ \\\ N
¢ T
/ \\ ) \\
N AN , \\\
/N Sl
/ N 5 10
/ N
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Function02 for No.13156 (continue)

-
(Eq=[y=-x—1] (Eq=[2x+y—-4=0]] ‘t’
A=(2,1) 4=(3,4) )
No2=| B=(0,-1) | ,No3= B=(3,10) | | o
C=(1,-5) C=(-4,10) Y
D=(-1,-3) L D=(5,-6) J U
| T
Nod4 : 4.1 > S = 180 , R=23
: 4.2 > S = 6300 , R =23
No5 : N = 22000 , R = 6 , Y = 2567
No6 : P = 130 , F = 22000 , V. = 30 , N = 215
~ D(p):—25p+8775}
N07_[S(p)=22p+5156
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Function02 for No.13158

M
I=(y+x+2=0) .3:( =§—7] S5=(Gxty+3=0) ;
Nol = o
’ 2=(+x=0) .4:(y:%+3j b6=(y=4x+18) };
LD
/ t
| o /
\ S, //
AR
/\ /
e
[\ 4
[\
A | .
5 10
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Function02 for No.13158 (continue)

— — _M—
X - A a
Eq:{y:——7} Eg=[y+x=0]
3 ‘
- A=(-1,1) ,
No2=| A=G.5) 1 Nesol po(2,2) |,
B=(0,-7) ~ @
C=(5,-5)
C=(9,-6) _ M
| D=(4,-1) |
| D=(6,-5) | U
| T
Nod4 : 4.1 > S = 150 , R=23
: 4.2 > S = 6400 , R =23
No5 : N = 20000 , R = 8 , Y = 2569
No6 : P = 130 , F = 22000 , V=70 , N = 363
~ D(p):—22p+6200}
N07_[ S(p)=19 p + 4150
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Function02 for No.13203

A=(x-2y+2=0) 3=(4x-y+19=0)
Nol =

S5x
2=(y=x+4) .4:( :—7—4

\ \

N A

S=(y=x+1)
b6=(y+4x-3=0)7

\I.b,\;wﬂa il

/ o

I\

Continue Next Page >>>



Function02 for No.13203 (continue)

1
I

M
(Eq=[y=x+1]] (Eq=[x—-2y+2=0]] Ct’
A=(2,-1) 4=(4,3) ,
No2=| B=(3,2) | ,No3= B=(10,6) | .| o
C=(-5,-4) C=(-8,-5) bV
| D=(3,-2) | . D=(85) | U
LT
Nod4 : 4.1 > S = 140 , R =17
: 4.2 > S = 7400 , R =14
No5 : N = 27000 , R = 6 , Y = 2566
No6 : P = 120 , F = 20000 , V. = 50 , N = 294
~ D(p):—29p+7229}
N07_[ S(p) =14 p + 5036
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Function02 for No.13469

d=CBx-y+6=0)  3=(y=3x+3)  S5=(2x+y-15=0) ]g
NOI{2(y—§—6j 4=(3x-2y+10=0)  .6=(y=x+6) ] ;2
N
< 1/
I/
/]
oA
/)
o,
e
S L] 5 |
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Function02 for No.13469 (continue)

1
I

M
(Eq=[y=3x+3]] (Eq=[3x-y+6=0]] ‘t’
A=(5,21) A=(1,11) ,
No2=| B=(2,9) |, ,No3= B=(3,13) - la
C=(4,15) C=(-1,3) Y
D=(_27_3) - L D:(-S’-9) - U
T
Nod4 : 4.1 > S = 190 , R=0
: 4.2 > S = 9600 , R =23
No5 : N = 18000 , R =17 , Y = 2569
No6 : P = 150 , F = 19000 , V. = 30 , N = 162
~ D(p):—16p+6446}
N07_[ S(p) =129 p + 3926
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